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Bradycardia, Heart block
Hypotension
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l (&2 & atropine shrc & ¥ i i iE)
10% calcium chloride 0.1-0.2 mi/kg IV 5 min & Atropine 0.02 mg/kg (&> 0.1mg,5 % ©24 0.5
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Dopamine at 5-20 pg/kg/min, titration B 52 5 DL ek o 4
Norepinephrine 0.1 nyka/min 10%calcium chioride 0.2-05 mifkglhy | * 21 FHIE L 45
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Glucagon 0.05-0.15 mg/kg IV
bolus; £ & pF» w3
0.05-0.15 mg/kg/hr

4| £ insulin 1u/kg = D25W 2-4 mi/kg IV
wkg fr D1OW 5-10 mi/kg 4% 4 if 12 1 /]
wkg/hr {- dextrose water # i ix I otk sc i o (7 BEom T
324 £ insulin 0.5 ukg/hr 4= D10W 5 ml/kg/hr)

» 3% insulin 0.5-1
“pF > H 12 insulin 0.1-1
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T P 19% 3>+ 150-300 mg/dL - &
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# & 1.13~1.31 mmol/L (4.5-5.2 mg/dL)
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